Page 5-2

2009-2011 DS Golf Cars lllustrated Parts

List

000247-002



STEERING COLUMN

ITEM PART NO. DESCRIPTION QTY

1234

1 1011697 Washer, 5/16 Flat 1
2 1014216 Steering Column Rebuild Kit (includes items 3 through 11) 1
3 1012466 Dust Cover 1
4 1012605 Ring, 0.579 Internal Retaining 1
5 1014125 Wedge, Molded 2
6 1014126 Seat, Plastic Bearing 2
7 1014211 Seal, Bearing 1
8 1014212 Spacer, Shaft 1
9 1014213 Bearing, Ball 2
10 1014214 Ring, Retaining 1
11 1014217 Spring, Steering Shaft 1
12 1014288 Screw, 5/16-18 X 0.75 Thread-Forming 1
13 1016181 Steering Shaft Assembly (includes items 14 through 22) 1
14 1012604 Washer, 0.675ID X 1.19 OD 1
15 1012605 Ring, 0.579 Internal Retaining . 1
16 1014125 Wedge, Molded 2
17 1014126 Seat, Plastic Bearing 2
18 1014213 Bearing, Ball 2
19 1014214 Ring, Retaining 1
20 1014217 Spring, Steering Shaft 1
21 1015545 Shaft, Steering Column 1
22 1016622 Column, Aluminum Steering 1
23 1016183 Screw, 3/8-16 X 7.00 Hex Cap 2
24 1016263 Cover, Steering Column Tube .. 1
25 1016269 Screw, 5/16-18 Thrd Forming 2
26 101984801 Kit, Steering Column Mounting Bracket (includes items 27 and 28) 1
27 N/A Bracket, RH Steering Column Mount 1
28 N/A Bracket, LH Steering column mount .... 1
29 102278001 Boot, Steering Column Round 1
30 103601601 Shaft, Intermediate Steering (includes items 31 and 32) 1
31 1017226 Bolt, Hex-Head, 8mm X 1.25 - 30 3
32 7174 Lockwasher, 5/16 Split 3
33 334 Washer, 3/8 Type A Flat .......... 4
34 8754 Locknut, 3/8-16 Hex .... 2

2009-2011 DS Golf Cars lllustrated Parts List Page 5-3



